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Question 1

Question Type: MultipleChoice

Which Cisco product must be purchased to use the Cisco IWAN solution?

Options:

A- Cisco ISR G1
B- Nexus 5000
C- AX bundle

D- Cisco ASA

Answer:

C

Question 2

Question Type: MultipleChoice




The primary customer value proposition for Cisco IWAN includes which five options? (Choose five.)

Options:

A- improved application responsiveness over the WAN
B- efficient utilization of all WAN bandwidth

C- ability to leverage installed Cisco ISR G2

D- increased investment protection

E- improved user experience of public cloud services
F- consistent IPsec security over any provider transport
G- automatic configuration and provisioning

H- increased application performance monitoring

Answer:

A B EFH

Question 3

Question Type: MultipleChoice




What are the four pillars of the Cisco IWAN solution? (Choose four.)

Options:

A- transport independence
B- hybrid WAN design

C- transport dependence
D- intelligent path control
E- static routing paths

F- application optimization
G- RIPv1

H- secure connectivity

Answer:

A D FH

Question 4

Question Type: MultipleChoice




Which type of product is Cisco UCS E140S?

Options:

A- a rack-mount server
B- a double-wide blade server for Cisco ISR G2
C- a new module of a Cisco tablet

D- a single-width blade server for Cisco ISR G2

Answer:

Question 5

Question Type: MultipleChoice

What should you do to all three planes of the Cisco IOS router?



Options:

A- leave them at the default settings, to provide best functionality
B- protect them with an antivirus solution
C- harden them, using Cisco Guide to Harden Cisco IOS Devices

D- verify them, using the Cisco 10S verification tool

Answer:

C

Question 6

Question Type: MultipleChoice

Which type of data and analyses does Cisco Threat Defense collect to establish behavior baselines?

Options:

A- raw



B- NetFlow
C- NBAR2

D- LAN Manager

Answer:

B

Question 7

Question Type: MultipleChoice

Cisco Threat Defense is based on which product?

Options:

A- Adaptive Security Appliance
B- Lancope StealthWatch
C- Plixer Scrutinizer

D- SoftPerfect Network Scanner



Answer:

Question 8

Question Type: MultipleChoice

What alternative exists for propagating SGTs when network devices do not have hardware support for TrustSec?

Options:

A- SXP
B- SGACL
C- Cisco Discovery Protocol

D- TrustSec Exchange Protocol

Answer:

A



Question 9

Question Type: MultipleChoice

How is a TrustSec tag used with a site-to-site VPN?

Options:

A- by being passed separately along with packet
B- by being preserved in the GRE/IPsec VPN header
C- by being marked as a TrustSec packet

D- by being added to the data packet

Answer:

B
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